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QUESTION 1

Which of the following is a MAJOR activity of test control? 

A. Scheduling test analysis and design 

B. Implementing the test policy or strategy 

C. Making decisions based on information from test monitoring 

D. Determining the scope and risks 

Correct Answer: C 

 

 

QUESTION 2

Which two of the following are attributes of structural testing? 

a) It is based on testing features described in a functional specification. 

b) It can include statement and decision testing. 

c) It can be carried out at all levels of testing. 

d) It can include debugging. 

A. a and b 

B. a and d 

C. b and d 

D. b and c 

Correct Answer: D 

 

 

QUESTION 3

Which of the following statements are true in relation to component testing? 

a) Stubs may be used. 

b)May cover resource behaviour (e.g. memory leaks). 

c) Tests the interactions between software components. 

d) Defects are typically fixed without formally managing these defects. 
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A. a, c and d 

B. a, b and d 

C. b, c and d 

D. a, b and c 

Correct Answer: B 

 

 

QUESTION 4

Which of the following matches the activity (i to iv) to its most suitable type of tool (p to s)? 

i) Analysis of code structure. 

ii)Generation of test cases. 

iii)Simulation of the environment in which a component is run. 

iv)Analysis of test metrics. 

p) Test management. 

q) Test design tool. 

r) Static analysis tool. 

s) Test harness. 

A. i-s, ii-p, iii-r, iv-q 

B. i-r, ii-q, iii-s, iv-p 

C. i-r, ii-s, iii-p, iv-q 

D. i-q, ii-r, iii-s, iv-p 

Correct Answer: B 

 

QUESTION 5

What is the purpose of configuration management in testing? 

a) To choose and implement a suitable configuration management tool. 

b) To identify unique items of testware and their related developed software. 

c) To provide traceability between items of testware and developed software. 

d) To enable managers to configure the software. 
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e) To control the versions of software released into the test environment. 

A. a, c and e 

B. a, b and d 

C. b, c and d 

D. b, c and e 

Correct Answer: D 

 

 

QUESTION 6

Which of the following activities should be considered before purchasing a tool for an organization? 

a) Ensure that the tool does not have a negative impact on existing test processes. b) Produce a business justification
examining both costs and benefits. c) Determine whether the vendor will continue to provide support for the tool. d)
Introduce tool deployment activities into the testing schedule. 

A. a and d 

B. b and c 

C. c and d 

D. a and c 

Correct Answer: B 

 

 

QUESTION 7

Which of the following are true of software development models? 

a) Component Integration testing is present in all good development models. b) Acceptance testing can take place
before system testing starts. c) Acceptance testing should only start when system testing is complete. d) There may be
fewer than four test levels in a V-model. 

A. b and d 

B. a and b 

C. b and c 

D. c and d 

Correct Answer: A 

 

ISEB-SWT2 PDF Dumps | ISEB-SWT2 VCE Dumps | ISEB-SWT2 Exam Questions                                4 / 8

https://www.pass4itsure.com/iseb-swt2.html
https://www.pass4itsure.com/iseb-swt2.html
https://www.pass4itsure.com/iseb-swt2.html


https://www.pass4itsure.com/iseb-swt2.html
2024 Latest pass4itsure ISEB-SWT2 PDF and VCE dumps Download

 

QUESTION 8

Which of the following statements is true? 

A. A test condition specifies input values and expected results; a test case combines one or more test conditions 

B. A test condition may be derived from requirements or specifications; a test procedure specifies the sequence of
action for the execution of a test 

C. A test case specifies the sequence of execution of test conditions; a test procedure specifies test pre-conditions and
post-conditions 

D. A test case specifies input values and expected results; a test procedure may be derived from requirements or
specifications 

Correct Answer: B 

 

QUESTION 9

Which of the following activities would improve how a tool is deployed within an organisation? 

a) Defining best practice guidelines for users. 

b) Roll out the tool across the organisation as quickly as possible to all users. 

c) Provide technical support to the test team for each type of tool. 

d) Introduce a system to monitor tool usage and user feedback. 

e) Ensure that the test process is not changed as result of the tool introduction. 

A. a, b and c 

B. a, c and d 

C. c, d and e 

D. b, d and e 

Correct Answer: B 

 

 

QUESTION 10

Which one of the following statements about approaches to test estimation is true? 

A. A metrics-based approach is based on data gathered from previous projects; an expert-based approach uses the
knowledge of the owner of the tasks or experts 

B. A metrics-based approach is based on creating a work-breakdown structure first; an expert- based approach is based
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on input from estimation experts 

C. A metrics-based approach is based on data gathered from previous projects; an expert-based approach is based on
a work-breakdown structure 

D. A metrics-based approach is based on an analysis of the specification documents; an expert-based approach is
based on the opinion of the most experienced tester in the organisation 

Correct Answer: A 

 

 

QUESTION 11

An automated air-conditioner is programmed to turn its heating unit on when the temperature falls below 17 and to turn
its refrigeration unit on when the temperature exceeds 26. The air- conditioner is designed to operate at temperatures
between -10 and +40. Given the above specification,the temperature exceeds 26. The air-conditioner is designed to
operate at temperatures between -10 and +40?. Given the above specification, which of the following sets of values
shows that the equivalence partition test design technique has been used correctly? 

A. -11, -11?, -1, -1?, 18, 18?, 27, 27?, 5151? 

B. -11, -11?, -1, -1?, 12, 12?, 18, 18?, 27, 27?, 5151? 

C. -11, -11?, 18, 18?, 5151? 

D. -1, -1?, 12, 12?, 18, 18?, 27 27? 

Correct Answer: A 

 

QUESTION 12

Why should expected results be defined before execution? 

A. To assist in test automation 

B. To improve test efficiency 

C. To reduce the possibility of incorrect results 

D. To improve design of the software 

Correct Answer: C 

 

QUESTION 13

How is the scope of maintenance testing assessed? 

A. Scope is related to the risk, size of the changes and size of the system under test 

B. Scope is defined by the size and type of system being changed 
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C. Scope is defined by the size and type of system being changed 

D. Scope is related to the number of system users affected by the change. 

Correct Answer: A 

 

QUESTION 14

A failure has occurred during system testing and incident report must be raised. The following attributes are available for
the report: 

a) Tester name.Tester? name. 

b) Date raised. 

c) Priority (to fix). 

d) Severity (impact on the system). 

e) Expected Results. 

f) Actual Results. 

g) Test case specification identifier. 

h) Failing software function. 

i) Tester recommendations. 

Which attributes would be the MOST effective to enable determination of WHEN the incident should be fixed and HOW
MUCH effort might be required to apply the fix? 

A. b, c, e, f, g 

B. a, b, d, h, i 

C. c, d, e, f, h 

D. c, d, e, g, i 

Correct Answer: C 

 

 

QUESTION 15

Which of the following statements describe why error guessing is a useful test design technique? 

a) It can help derive test cases based on analysis of specification documents. 

b) It can identify tests not easily captured by formal techniques. 

c) It can make good use of tester experience and available defect data. 
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d) It is a cheaper alternative to more formal test design techniques. 

A. a and b 

B. b and c 

C. c and d 

D. a and c 

Correct Answer: B 
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